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O 758k NE|AE =2 S
TE Y= T
=4 5yg= HE 71| T tEdda | HE 71 el X7rEddal
1 +A0[25 % (pH) - - 8.9 - - 6.8
2 | M=t At SEF (BOD) - mg/X 11,752.3 30 O35} mg/% 24
3 % J7|EtA (TOCQ) - mg/X 12,990.7 55 0|3} mg/% 13.0
4 BEo2F (S9) - mg/! 9,716.1 30 O[5t mg/2 2.0
5 = A (T-N) - mg/! 4,691.319 60 0|3} mg/2 15.864
6 % 21 (T-P) - mg/X 472.355 8 0|5} mg/% 0.123
7 ST T - /L 144,677 3000 O[3}t 7H/L 23

O 2k MEAE X2 HE

T2 Y e
=H sdg= HE 71E| T 7tEEEAN | HE olE] e X2tEd da
1 F=20|25% (pH) - - 7.8 - - 6.9
2 | A=t M4 Q48 (BOD) - mg/! 41336 30 0|8t mg/2 1.6
3 & {7|EtA (TOCQ) - mg/X 4,533.0 30 0|3t mg/¢ 10.5
4 F2=2E (S9) - mg/X 5,240.0 30 O35} mg/% 13
5 = A (T-N) - mg/! 2,217.430 60 0|3} mg/2 9.761
6 = 0l (T-P) - mg/2 206.651 8 0|} mg/2 0.162
7 SUHE = - =/m@ 60,200 3000 O[3t ==/me 40
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T2 Y gET
= ] HE 718 T i=sddn |98 718 ol CHa =7 2ot
1 +A0|25% (pH) - 73 5.8~8.0 - 6.9
2 | ME3et LAQ 2 (BOD) - mg/% 219 30 O3} mg/X 2.8
3 oSt 4t 4 Q@ L EHCOD) - mg/2 178.4 200 O|St | mg/t 73.3
4 E2EE (S9) - mg/2 60.6 30 0|3t mg/t 48
5 = EHA (T-N) - mg/2 188.300 100 O[St | mg/t 77.300
6 Z 2 (T-P) - mg/t 1.910 4 0|5} mg/2 0.258
7 e P e - 2=/m@ 230 100 O[S} | %=/m@ 3
O &718 s M2A|E s=X2| g
T2 Y gEr
= ] HE 718 T isdEdn |88 718 ol CHE =7 20t
1 F20|2F% (pH) - - 73 5.8~8.0 - 7.5
2 | MEEH LA e (BOD) - mg/% 21.1 30 O3} mg/X 5.6
3 S A LA Q T ZH(COD) - mg/2 2124 200 O[3} | mg/t 27.8
4 E2REH (SS) - mg/2 53.0 30 O|&} mg/? 0.9
5 T HA (T-N) - 2=/ml 154.800 100 O[3t | ==/me 14.900
6 % ol (T-P) - mg/! 3.293 4 0|3} mg/t 0.148
7 SOy AT - mg/% 2,900 100 O[Sk |  mg/t 0




